Errata & Changes: Lecture Notes on on Probability and Random
Processes

for

sf2940 Probability Theory Edition 2014

THESE CORRECTIONS/ADDITIONS AND

CHANGES HAVE BEEN MADE ON THE
THE COURSE HOMEPAGE FILE

e p. 16 It follows that A is an algebra and that C € A. Furthermore, ...
SHOULD BE
It follows that A is an algebra and that C C A. Furthermore,
A € B for any algebra B containing C
SHOULD BE
A C B for any algebra B containing C

e p. 24 hence the interval [1,2] would have infinite length. should read —
hence the interval [—1, 2] would have infinite length.

e p. 82 Exercise 10. Find the marginal p.d.f.’s fx(z) and fy(y). Answer:

0 <0
fXx:{rcc—w -
<) lice xz < 0.

Find the marginal p.d.f.’s fx(x) and fy(y). Answer:

0 z<0
Ix(@) = { )
e p. 106 Given P(A) = a and P(B) = b, show that =1 < P(A| B) > £.
SHOULD BE

Given P(A) = a and P(B) = b, show that =2 <P(A|B) < £.
e p. 136 Exercise 3

X+Y
;— 4 max(X,Y).

SHOULD BE .
X+5 2 max(X,Y).



e p. 142 Example 5.1.2.

— k ,\k)\
gX(t):Zt e~ o
k=0

SHOULD BE
L AR
gx(t) = Ztke /\ﬁ =
k=0

e p. 185 Exercise 7. {X,,}n>1 is a sequence of LI.D. r.v.’s with F[X,] =1
and

SHOULD BE:

{X,}n>1 is a sequence of non negative LID. r.v.’s with F[X,,] =1 and

e p. 187 exercise 3. It reads:

Define
Y 1 with probability n=!
™7 | 0 with probability 1 —n~!

Correction:

Define a sequence of independent r.v.’s

. e _1
X, = { 1 with probability n

0 with probability 1 —n~!

e p.188 exercise 4 Show that

n
a.s 1
> ok 3
k=1
as n — oo.
Corrected:
n
- i
n 2’
k=1
as n — 0o.

e p. 217 exercise 15 Answer: N (6.5, 22—5)
CORRECTED:
Answer: N(6,2).

e p. 226

(bX (S) - E ei(Asin(gi)) Do, sk cos(wtk):| . E |:6i(Acos(¢) 1Sk sin(wtk)



= F {e—ié S Y sisk COS(w(tk—tj)):| .

CORRECTED
(bx (S) - B [ei(A sin(¢) >-3_4 sk Cos(wtk):| - E |:€i(A cos(9) > n_q Sk sin(wtk)

- [e—ié D SRR cos(w(tk—tm] .

p. 245 eq. (9.35)

Fx@1x(to)==(y / Fxwixe)=u (V) - [x () x(t0)= (u) du.  (0.1)

CORRECTED

Ix ()X (to)=a( / Ix@)1x(s)=u (¥) - X ()X (t0)=2 (u) du.  (0.2)

p. 292 Show that WH(t)iaiHWH(t) (at), where a > 0.
SHOULD BE
Show that WH(t)ia%WH (at), where a > 0.

p- 307

13}
%Covu(t, s) = aCovy(t,s), s>t

SHOULD BE

0
£COVU(t s) = —aCovyl(t,s), s>t.

p. 316

S B /\l Al
:/ A ka( Jdu = e = ka =e
0 I
as
SHOULD BE
e (A= 9)! Mt — ) [ ANY/
:/ oAt—s) AC - N b (w)du = e M=) A . 3)),/ Fr, (w)du = e A=) (A(f” )
O . . O .
——

=1
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